MTH 05, TeSt ]., V. 2, 09/15/17 Prof. Luis Fernédndez

NAME: SOLUTION

There are twenty-two questions, each worth 5 points. For multiple-choice questions, circle
your answer. For free-response questions, SHOW ALL WORK to receive full credit.
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1. Evaluate T;y when x = 8 and y = —5. 2. Evaluate —2x2 4 3z — 2 when = = 3.
(a) 43 Solution:
30 Solution: ~2.3°43.3-2=-2-9+
—11 9—2:—18+9—2:-—11
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3. Evaluate: |5 —2-4| 4. Compute: —6° — £ 15 =
(a) =3 Solution: (a) 27
(12y + 8) — (3> + Ty) =
9 _ (b) 45
3 L2y + 8 + 3" — Ty = Solution:
3y* + 5y + 8 (c) —27 Y 15
(c) 12 36— 2. — = —36—9 =[45]
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(d) —12




Solution: LCD is 24.
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7. Evaluate 8 — 5(3 — 1)
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Solution:

8—5(2) =8—10=|(-2)
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6. Solve the equation 3(7 —n) = 5n — 11.
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(a) x =

Solution:

21-3n = 5n-—-11

—-8n = -—32
—32

n g _— =
—8

Solution: LCD is 12.

12 z-2 123
1 3 1 4
4(x—2)=9
4r —8 =9
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4o =17z = —
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9. Evaluate: [ —— —— 10. Solve 3x =2x — 18
10 6
18
E (a) Ty Solution:
4 (b) luti 3z —2x = —18
no solution _
15 Solution: r=
4 <:> _
s | (0) (5F) )
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. Evaluate: —— + — 12. Evaluate exactly —b+ v/b% — 4ac
15~ 25
whena=2,b=7,c=3.
03 Soluti
-5 olution:
70 Solution: (a) 2+ V45 7+ _4.2-3
98 _
155 14 21 14 25 _2 = TH+v49—24
15725 15 21 = —THV25 = —T+5=[ 2]
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13. If y =222 + o + 5,
find y when x = —2.

(a) =5
(b) 5
(c) —1
(@) n
15
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;
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Solution:
b et
(b) =z 8 3z 8 15
- =22 56 =15
9 174 138
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() o =—2

14. If g = 322 — 4z + 2,
find the value of g when xz = 3.

(a) —17
(b) 37
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Free response questions start here. SHOW ALL WORK!!

16. Solve 7(z —4) =52 +9 17. Solve —9z + 2 = 38 — 3z
Solution:
If 7(x —4) =5z +9,
then 7z — 28 = 5x + 9, Solution:
which implies 7z — 5x = 9 + 28, If =92 +2 =38 — 3z,
and then 2z = 37 then —9x + 3x = 38 — 2,
- 1 and then —6z = 36,
which gives [z = — 36
2 . . _ 36
which gives x = 5’
and therefore

18. Solve z +2(3x — 1) = —5(z — 2) + 12 19. Solve the equation: 5z—2(z+1) = 44+2(x—3)
Solution:
Expand: bz — 2z — 2 =4+ 2x — 6.
Solution: Combine like terms: 3z — 2 = —2 + 2z.
If 2423z —1) = —5(x —2) + 12, Subtract 2z from both sides:  —2 = —2.
then o + 6x — 2 = —5x + 10 + 12, Add 2 to both sides: z = 0.
and then 7z — 2 = —5x + 22, Therefore the solution is .

which implies 7x + bx = 22 + 2,
and then 12z = 24,

24
12’

which gives .

and therefore x =




4 2 5
20. Eval e — = — =
0 Vauate5 T 1 @
Solution:
4 2 5 4 2 14
5 7 14 5 7 5
4 2 2 4 4
51575 5L
22. Evaluate: /36 + (—4)2 =

Solution:

V36 = 6 (because 6% = 36).
(—4)% = (—4) - (—4) = 16.

V36 + (—4)% = 6 + 16 = [22]

2(r —3 7T 2
21. Solve the equation: M + 6= ; -2
Solution:
LCD is 30. Multiply all by 30.
20 —-3) 7 2w 5
5 6 3
30 2(x—3) 30 7 30 2z
> L = 2. 30.9
1 5 * 1 6 1 3 30
12(x —3)+35 = 20z —60
122 —36+35 = 20z —60
12¢ =1 = 20x — 60
—8r = —59
I =59 |59
- -8 |38




